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Part 11 j&:ﬁ/.\

1. (12 points) Find the following integrals.

20+ 2
(a) / RS CEEE dx.
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2. (8 points) The region enclosed by the z-axis, the line = = T and y = sin 2z is

revolved about the vertical line x = —1 to generate a solid. Find the volume of the
solid.

3. (6 points) Let f be a real-valued function defined by

sin(z?)

if © £ 0,
flx)=q %

0 if vt =0.
Find the tangent to the graph of f(z) at the origin.

4. (8 points) Find a function f and a number a such that

Nz
2+ %dt:m(\/}—l—l).

a

For all = > 0.
5. (10 points)
(a) Prove that e* > 1+ if = > 0.

1
(b) Use the result in part (a) to show that e* > 1+ x + 53:2 if = >0.

dx
z(lnz)p

2
6. (6 points) Find the value of p for which the integral / converges.
1

Give your reasons.



